H & 0l & AHS B Ml A

SA EHHH
HE: O OFE AHIA HMS(HADH)
CHRl: §EH0 o 2Y (CHo M)
M- SA(3) - MRAY - BES (1;| Palgely I & A Hlns
o1 1,206,550 1,214,852 18,302
=01 k= MHIA MI2(EAHH) 220,741 222,872 ~2,131
SEX0 oA 29 220,741 222,872 A2,131
sF2Y U H2|(HHH) 65,061 62,192 2,869
101 Q1A 34,403 35,634 A1,231
M IIZH22 RS2 34,403 35,634 ~1,231
Ot=2=2 22| 212
B 76,9602 2H 7 1,078 2,309 ~1,231
201 YLt | 20,858 17,258 3,600
2 Z229Y| 15,716 12,116 3,600
O A 11,936 8,3% 3,600
M3 2 750,0002* 122 9,000 5,400 3,600
206 24| 5,800 5,300 500
01 H2HI 5,800 5,300 500
ogsg 214l ZE 1,500,000 1,500 1,000 500
2BAE L Y |X22(FHHH) 40,150 45,150 25,000
201 Lete | 39,380 44,380 25,000
® I229Y| 39,380 44,380 25,000
OAERXIHI 10,000 15,000 25,000
“HAF B =H] & 5,000,000 5,000 10,000 5,000
FOIHO|Z Al RSN (EHH) 795,200 781,000 14,200
DEUE XS (FHADH) 795,200 781,000 14,200
AFE FOISIAAI(HHH) 742,000 742,000 0
401 AlEHI L 2] 742,000 742,000 0
01 Al&HI 742,000 742,000 0
OZ4 22383 AHL=50m)
AH 32,958,000 32,958 31,000 1,958
OTUH DIS3l 22822 & 513 AHL=200m)
AY 15,455,000 15,455 20,000 4,545
OX= 52I0tS 2 T E 2 AHL=150m)
AE 21,433,0002 21,433 25,000 N3,567
OX= S22 Z XS AHL=80m)
AE 22,802,000 22,802 23,000 A198
O2=2 DISTURSZTE 2 AIHEH|2AHL=
180m) AE 34,872,0002 34,872 35,000 A128
OS2 S2SAIHEH L B2 FHIBAHL=
110m) AE 29,150,0002 29,150 30,000 1850
OZ& 2EUE =2 T EZ AHL=200m)
1% 27,389,0002 27,389 29,000 A1,611
OZ X B2 A0SO HHI S AHL=260m)
AE 18,344,0002 18,344 30,000 A11,656
Ogr=2 Hi2=2 A HIZ AHL=100m)
AE 43,319,0002 43,319 43,000 319
OoY=s HELZME IS AHL=150m)
AH 31,209,000 31,209 35,000 A3,791




S Eoie
Hu: ZFOIEo|SAl XSl (Zoie)
S ZEUs KGN (HAH) (CH9: /M)
SA - ZE - SA(FH) - AIRAY - BES Ofl &kl N3 A Hwsz2
OF& MIMAEHUYI= AHL=40m)
Z2 & 33,650,000& 33,650 35,000 A1,350
OdlE Cret3 M Z I3 AHL=150m)
Z8 37,695,000& 37,695 38,000 A305
O=2¥ 022 EHIE AHL=260m)
2H 25,153,000& 25,153 35,000 A9,847
O2J LXL0t= 2 FHI3 AHL=300m)
Z2& 44,110,000& 44,110 43,000 1,110
OSEl OS2 & EHIS AHL=300m)
23 31,000,000& 31,000 30,000 1,000
OSEl MEEYIBAHL=120m)
AE 34,589,000& 34,589 37,000 22,411
Ous == F I3 AHL=60m)
Z8 12,633,000& 12,633 14,000 1,367
O5s IHes3s2EE B AHL=100m)
Z8 28,475,000& 28,475 28,000 475
O sZXUZFH| L =2 HBISAHL=
110m) 4% 15,398,000& 15,398 25,000 A9,602
O&Y XS 2 A X2 AHL=100m)
Z2& 17,077,000& 17,077 20,000 A2,923
O MilsZ XY ZE RS AHL=60m)
B8 15,274,000& 15,274 22,000 N6, 726
Ot =2 X3 AHL=150m)
4% 30,827,000& 30,827 32,000 A1,173
Osd SZ2THZEELHH=2 FHI S AH L=60m)
Z& 14,761,000& 14,761 27,000 A12,239
OZ DIl =2 A ZANL=110n) 23,436 0 23,436
O XY ZA SR E =B AHL=27m) 13,120 0 13,120
OYUSHSLSHEZHISAIASHAAIZ A
29 16,500 0 16,500
OFA=Xg| 22 =2 B S Al 8,520 0 8,520
Og= =223 At 7,851 0 7,851
N2E RINZ2N(HHH) 53,200 39,000 14,200
201 B2 AL| 25,200 21,000 4,200
02 32| 25,200 21,000 4,200
Ooxzs A=
438 2,100,000&*12& 25,200 21,000 4,200
401 AlEBIZ 200 28,000 18,000 10,000
01 Al&HI 28,000 18,000 10,000
SEIIRS |XPL
Z& 28,000,000& 28,000 18,000 10,000
HEIHHH|(HHM) 190,609 210,980 A20,371
OlHASAY|(HHDH) 117,260 137,751 220,491
QIAH|(EAHH) 117,260 137,751 A20,491
101 21| 116,660 137,151 A20,491
03 SR (RIAHY) 22T E> 116,660 137,151 220,491
O=t80IeHA 116,660 137,151 220,491
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